Esponenti negativi di 10

g x 1007 =
100D =
125,7+100% =
103 =

1002 =

103 =

201 x 100V =
514,8+ 100% =
667,8+ 100% =

705,8 + 1004 =

Data: Punteggio:

3x 107D =
570,9+ 10" =
100D =

1 x 1004 =
100D =

2x10° =
4x10=

2x 10" =

g x 1001 =

7x10=
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8 /7 & Esponenti negativi di 10

Nome: Data: Punteggio:
8 x 1007 = 0.008 3x 1070 =03
1077 = 0.1 570,9 + 10" = 5709
125,7+ 107" = 1257000 1077 = 0.1
107 = 0.001 ~1 x 107 = -0.0001
1072 = 0.01 107 = 0.1
107% = 0.001 2 x 10% = 200
201 x 100V =20.1 4% 10 = 40
514,8 + 107 = 5148000 2x10° =2
667, 8+ 10 = 6678000 8x107Y =08
705, 8 + 10% = 7058000 7 %10 = 70
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